
Divide 2 Digits by 1 Digit

1. Calculate:

42 ÷ 3

5. Shaun is calculating 26 ÷ 3. Method A 

gives him an answer of 5 r2. Method B 

gives him an answer of 8 r2. Explain 

which solution is correct.

2. Complete the number line using 

repeated subtraction to calculate 28 ÷ 4.

6. Stan thinks that 32 pencils can be 

shared equally between 4 tables and 2 

will be left to put in the cupboard.

Is he correct? Prove it.

3. Complete the division below using 

information from the number line.

7. The number line below is linked to the 

calculation underneath. Complete the 

number line and calculation below.4. Write the division shown on the place 

value chart below.
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